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3XML�GDQ� V\XNXU�SHQXOLV�SDQMDWNDQ�NHKDGLUDW�$OODK�6:7�DWDV� UDKPDW�GDQ�

KLGD\DK�1\D� VHKLQJJDO� SHQXOLV� GDSDW�PHQ\HOHVDLNDQ�.DU\D� ,OPLDK� 7XJDV�$NKLU�

GHQJDQ�MXGXO�³.ODVLILNDVL�(PRVL�SDGD�/LULN�/DJX�PHQJJXQDNDQ�0HWRGH�6XSSRUW�

9HFWRU�0DFKLQH´�

.DU\D� ,OPLDK� LQL� GLVXVXQ� GHQJDQ� WXMXDQ� PHOHQJNDSL� V\DUDW� XQWXN�

PHQJDMXNDQ� 7XJDV� $NKLU� GL� 3URJUDP� 6WXGL� 6LVWHP� .RPSXWHU�� )DNXOWDV� 7HNQLN�

(OHNWUR��8QLYHUVLWDV�7HONRP�

'DODP�PHQ\XVXQ�SURSRUVDO� LQL�SHQXOLV�PHQJXFDSNDQ� WHULPDNDVLK�NHSDGD�

VHPXD� SLKDN� \DQJ� WHODK� PHPEDQWX� SHQXOLV� GDODP� SHQ\XVXQDQ� SURSRUVDO� 7XJDV�

$NKLU�LQL��3HQXOLV�VDGDU�EDKZD�SURSRUVDO�7XJDV�$NKLU�LQL�PDVLK�NXUDQJ�VHPSXUQD�

GDQ�ROHK�NDUHQD� LWX�GLKDUDSNDQ� VDUDQ�VDUDQ�GDUL� SHPEDFD� \DQJ�GDSDW�PHPEDQWX�

XQWXN�SHQ\XVXQDQ�SURSRUVDO�\DQJ�OHELK�EDLN�ODJL

'HPLNLDQ�SURSRUVDO�7XJDV�$NKLU�\DQJ�SHQXOLV�VXVXQ�GDSDW�EHUPDQIDDW�EDJL�

VLDSD�VDMD�\DQJ�PHPEDFDQ\D�
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